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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2018 

LIFE SCIENCE 

LSE-06 : DEVELOPMENTAL BIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer Part I and Part II in separate answer 
copies. Answer the questions as per instructions 
given in each part. Draw well-labelled diagrams, 
wherever necessary. 

PART I 

(Plant Development) 

Note : Answer the following as per the instructions given 
in each question. 

1. Choose , the correct options of any five from the 
parentheses. 

(i) Ovule is also known as 
(megasporangium/microsporangium). 

Exine is composed of 
(pectocellulose/sporopollenin). 
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(iii) Chasmogamous flowers are 
(aerial/underground). 

(iv) (Helobial/Composite) endosperm is 
intermediate between nuclear and cellular 

types. 

(v) Zygote has a (complete/incomplete) wall 

around it. 

(vi) Apple is a (true/false) fruit. 

(vii) The difference between two ends of a cell is 
termed as (polarity/topology). 

2. Write a one-line definition of any five of the 

following terms : 	 5 

(i) Thigmotropism 

(ii) Histogenesis 

(iii) Corpus 

(iv) Senescence 

(v) Phytochrome 

(vi) Fascicular cambium 

(vii) Sapwood 
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3. Make clear and labelled diagrams of any two of 

the following : 	 2x2 
2 

(a) A part of t.s. anther showing secretory 
tapetum 

(b) T.s. stem of Bignonia showing anomalous 
secondary growth 

(c) Orthotropous ovule 

(d) L.s. pistil showing the pollen tube passage 
from the stigma up to the ovule 

4. Write short notes on any two of the 

following : 	 2x2 
1 
 =5 

2 

(a) Triple Fusion 

(b) Aril 

(c) Abscission 

(d) Periderm 

5. Answer any one of the following : 	 5 

(a) With the help of a clear and labelled 

diagram, describe the way of production of 

virus-free plants by shoot tip culture. 

(b) Write a detailed account on dispersal of 

seeds. 
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PART II 

(Animal Development) 

Note : Question no. 6 is compulsory. Attempt any 

four questions from questions no. 7 to 12. 

6. (a) Fill in the blanks : 
	 6x — =3 

2 

(i) In 	 regeneration, the part 

which is regenerated is very different 

from the one which is lost. 

(ii) The interval between two moults in 

insects is known as 	  

(iii) The ability of a malignant cell to 

detach itself from a tumour and 

establish a tumour in another site is 

called 

(iv) Treatment of egg with the drug 

	  disrupts the microtubules 

and arrests karyokinesis. 

(v) The respective fates of different 

blastomeres are determined early in 

	 embryos. 

(vi) The human embryo forms its first 

organ system in the 	week. 
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(b) Distinguish between the following : 	2x1=2 

(i) Chemotaxis and Galvanotaxis 

(ii) Spermatogenesis and Spermiogenesis 

. (a) Discuss the three basic types of regeneration 
that occur in animals. 	 3 

(b) List the factors controlling metamorphosis 
in insects. 	 2 

8. Describe in brief the three different stages of 
carcinogenesis. 	 5 

9. (a) Classify secondary induction. Why is 
secondary induction important ? 	 2 

(b) Describe the bone arrangement in the three 
limb segments. 

10. Describe the process of implantation of the 
human embryo. 	 5 

11. (a) Give the two main characteristics 
cleavage. 	 2 

(b) Describe in brief the events prior to 
sperm-egg fusion in mammals. 	 3 
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12. Write short notes on any two of the 

following : 	 2x2,5 
2 

(a) Development of Heart in Amphibians 

(b) Various Theories of Cellular Ageing 

(c) Spiral Cleavage 

(d) Types of Eggs 
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